
(6�!"�#���$%&��!'��$% �()*) �+�,�-(./0

����

�
��������
�����
�

�����'����(
�����
��%��)������%�
�����*�	


������
�
�
��������

������	
�
��������������
����������
��������!�����������
����������

	""#$%&'(
<����������4:���������������������;���?8��	����;��������8�����	4��������������3���8�������8�8�>

����������������>�������������������@��� -�<�0 �E�������	��2������������2�����E#�����;���8�����>
���	�����"G�� ����8�2�������8�������������2�����������8�����	47�������������2�������;��������2�����
�<�����	�9�23������������	��������8���8�3�8	���8�3 

��� ������4C���� ���
� ��������>���������2�
�������@2�-�<�0��������9���C���8������	
��=�>
�4��	4���	�9���4�8�9�������23����������9��8�3
����23���������3��������8�3�	�9����>���@�	�8>
��9��8�3��9�������43�-BEK0 ���8��������������>
��8�����������������������������
=�������9���4
�2��8������������������������8���������������>
��C���4�������������������23�����������43��4�>
8�3��8�����������R�8;��������;��	
�����8��9�23
8��������23���:����7�����������
=������	���;��
�������������23���	����������	�9���4����;�@�>
9��8�3�3���8�������8��8������������������������>
��	
����23�����	
��23����	�������	
������ 

<�����������������������������������������9>
��� �	����=�8������8;�=�����������������	4�

?	�8�����������=���?	�8���9��8�=���������
�8�8
�	4���;�����7���8����	4��������	��8���������<� 
"	4�������9���4����������������;�������������>
;���8�����������	�7��� ��8������������:���4���>
������;���	���������������9��8�����@����;��
����3������������9��
����	���:���8�����	
���>
�����������3���8�������8��<�������	
8��������>
�4���������9�23� -�����		4;����230���3��9��8�3
���2�����7�����������;����� ?8��	����;�� �E���>
���8�����	4�?	�8���9��8�3�3���8�������8���3���8>
�������8��������������	4��<������3���������>
���������
�8�����	
�����������7�������	4=:�3
8�9������@����������4�����������47����8�	
8�
����������8�9����������������4��������������	
>
����
���������8������������� ������
�����C�����
���	���=:����	�9���4���;����� 

1������4:�������4���<������������4�	�C
�����
���������-S
���<�,)(.6 //�A�5507��������	���=:��
���������4�8�8�����	=��������������������������
�<��T*U �
�����	��������������;���������2�����
���?	�8��������������
7� ��:���������3���9��8�3
��������������8�����	
������������ ?	�8������>
����������	4 �1���8���������8������������=��4
�����	
��� ��������2�� ���9���4� 3���8�������8
�<�7�����2C�����8����23� ������������������8
����	���	
�2�����@���9��8���?@@�8��� �1�����
��8������A�?�����8������;���<������������������
8�����	=�����8;����������������	4���C����23
3���8�������8���������3������2��������	��8���>
������<��T(U �1�����3���������	���23���8������3
������4��4����������4�8������������?	�8������>

����������	4��� ?	�8���9��8���3���8�������8��7
����8������3�������������=��4������2�8�����	4
3���8�������87�������	4=:�3�8�9������@������>
����4�����������4���������	
���������<� 

��8����������7���������4:��������������<��>
����8���M�����;������ ��:�������� ����������8�>
�����7��������:������	�2������9��
�8�����	���>
��23��������������3���8�������8��<�����������
�����		4;�����BEK����������4�����������������>
�������?8��	����;��7��7�8�8��	�������7������������
����2�����3���8���������;��������������=�?8��>
	����;��������8�����	4�8����������<� 

����3��������8����������
�����������������>
����;������;����2�������8���<������	���43�?8�>
�	����;�� �1���	
C��������	�9������������������
��3��9��8�3����2�������<��������;���8�3��9���>
����43� �������8�� �� �;��8�� ��	�9���23� ����23
���:����	4=��4��������������������������������>
�����������9��������� -%<�0�����;���8�������>
����	�7� ��	��������9�����2�������������C����4
���@�8����������;������ �J���8������4��������>
������������9���4�-E
07����@��8;���8�����	4���>
��	
�23� ����������� �� 3���8�������8� �<�7� 8�8
�����	�7����	���=��4�����������2������	��C���>
����� E
� �������@�7� 8����2�� ��� ��	���=�� ����
��������������������� -��������7�������������>
������@�8�������
���	���������	����������������
���������������2����������R�8����	4����	���=>
:�3����2�����0������?�������9����4�	4=��4���>
	��������2���������8���������������87�8�8���>
�2����4���������4���������������� 

����������8����������2C�����9��������
=��	�>
����7�9������������������8�����������4�?8��	��>
��;����23����2�������<�7� �� ��8�����������8�
�����������=:�3���������8�����	47��8	=9�4����>
;��	������������E
7������	4=:������:������

�������8������	
���������2�������������	
������>
4:�������9���������-����3��4:�����������������>
������4�8���������<�07��8���	
�2��	4����9������>
����� �������3������4 

1��E#�����;���8��������	�����"G�� ����8�2
�����	���������2��8������������4��4������27���4>
����2�� ����������8������������� ���������>���>
������23����������������9��8����?8��	����;���>
����� 8�����	4� ������������� �����������4� �	4
	�9��������������8�7� �� ����9��	�����<� �����



(H �!"�#���$%&��!'��$% �()*) �+�,�-(./0

����

�
��������
�����
�

�2	��������	��������2��	���=:��� ��������2�
��8�����27����������=:�������	������������;��
?8��	����;��������8�����	4������������	4����>
�����>�������������������@���
• ��������2���;����	
��������;��;����������>

����	��� ?	�8�����3��9��8��� �����8;��
-�qnu7��N%07��������	���=:������������4
8� �������� 8�����	4� 8�9������ @����������4
����������4� T/U>T.UD

• ����������	4������������������������	
�����
�<�7� ���� �88������;��� �� 8�����	4� 8�9�����
%����8���8���� �����	���9��8���� 8�		����
-uvr0�T6UD

• ��8	��2�%���;��;���@���8�������	���������>
;��2�-uuzn07�����2��=:���?���2����������4
8�����	4�8�9�������������������<��THU 
����������������9���4������	�����������8�3��

��������23�����9��8����2	��������������������>
8��?8��	����;����23����2������8����������<�7
�8	=9�=:�4������4�8�����	
��	���=:����8���	�8>
����������������3���8�������8�
• ����8;�4������9��8�����������������	4D
• ��	���
�8�����	����������������D
• ������
�����8;��������4�������������������	4

�������9�3������3D
• ������
�?	�8����������������	�9���4�EF1�D
• ������
��8����9��8����C���D
• ����C����������	jC��D
• ��������������
���������	���4�4�8���������	�

����������4D
• ���������������4������C�=:�4�����������
D
• ���������������4���	��������
D
• ��	:�����2��	4�����������D
• ����@�8�2�����������4 

1� ������������� �� �������������� ������8��7
�������������3��9��8����8�����	4�����	���43�?8�>
�	����;�����8���������4����:����	4�
����������9>
����
=�*�������(������-��8�8���������*��������/�����0 

"	4� ��	�9���4� 8�����	
�23� ������������ �
���;����� ���2������ ����	
��=��4� ����>��R�8�2
-@�����207���������9��8���������2�8����23���	>
��2�������3����
���	���
�����9������27���������>
	4=:��� ������ �@���� ��;������������;�������<>
������2������=:�������������������
• *)����A������8�������������	��2D
• ()����A������8�������������	� 

1����;������2��	����4�������������2���8�9�>
�������������23���������8�����	4�����	
����	�4
����>��R�8�� �nZ]YWVZ[Vd`\>zmb_Yd^� q� /H� *5� *5,
�(*/)�� 8�������� �sW\^\_`� � F���� ����>��R�8�
��������	4���������;�	����7��2��	����2��������>
���8	��������	����2���<>8��������������8���
=
A�*7(,���-�Ws�L�×�.�(�0���,����bv]7�����������2���
*)))��������		�������������2 �1����������>��R�8>
������������4����	�9�2�������8�7�����3����2���	4
8�����	4� ����������7� ������	4=:�3� 8�9�����
@������������ ����������47� �� �������� 8	��
47
���2� ������������������ �����C���47� 	�����2�
����8���27������	�����2������������������4���
�������������������=:��� ������2�� ��������9��>
8���������27�����8�����	����������	�9�2���8��>
;�����;�4�����	���������������n_v](�×�.�(� 

E��	�������C���4�����:���4�����9�4����2�2>
����23��������������3���8�������8�8���������<�
����������8�������������=:�3�������8���������
����������2	�����	������������8�����;��	�����>
����23����������23���������8�����	47�������:
=
8����23��������2��=��4� ����������������2�� �
���;��������2����������������4� -��3������2���
������������� �� ���������4��� ��������������
����������wQv�n07��;�����=��4���������2���3�>
��8�������8�7��� ��8��������������������������>
�������������4������8�	����2����� �<���������>
�������;��	������������E
�����������	4��;��8�
���	����3�C����������������	��������2C������8�
���������� 


���������4�������������������������������>
8��?8��	����;����23����2������8����������<� 

E�����8����	�9��2�����8;��������9��8�������>
����������	4�������4�������������9��� ���2���>
������ �$�����	
����:����	4=�� ������	
������>
��� �������>��		����	������� -��������� ���8�
�E(>(K07������	4=:���������4�
�����8;�=������>
4�������������������	4 

����3�������
�������8�������;���	�����8���>
��	������������������2�����������������������>
��9�������������������������;�������������;��>
�8�����������	����������9�������3���3������4��
��	����7�����8;�4������4�������������������	4
�������8�����������2C����,�S��-)7,���	0 �"����4
������8���������4�8����;��������������4�������>
4��4�������;�������<�������98����������������7
�����������=:��� �����=� ����8;��� ����������
��	4���,�S��-������	�������������������23�8���>
��������98�07������:����	4���4�������:
=���		�>
���	�����������	��8� �E������	
���������������
����4��4������������=:����������9�2��8���2� 

$�����	
� �������� �����4������ ����������
��	4�-E�E0��������9�3������3����������4������
��������4���������������8;�������		����	���	�
����4����������������������	4���������3��������
��������4��23�����9�3������3���������9���������
��98�3����������������2����4��������	��-������
�������8���������>������=:���8���C8�7�������>
:���4����	�7��8	��2����4���;��������� �� 0 �E�	�>
9���2�����9���4���������=���������	
����������>
�2��������4���-E"K0�E�E����9����������������>
�������4���	4�����������8������������	4���	����
8�8���:����-���������	�07���8���	�8�	
�����-8����
��87������	�9
40�����������4�T(U 


;��8�� �����4� ?	�8�������������� ��	�9���4
EF1�����:����	4���4���������������4�����4���>
������ ?	�8���9��8������	4� -1j�07��	�����������>
������������8��-��������������8;��0�-��	0�����>
��4���������?	�8��������9��8������	4� -81j�0���
�����������=:�������9�������� ���������������>
������������23�?	�8���9��8�3����������23���	��
T����������	
�����
�47���������7��������E/>6)07
����8���?	�8��������9��8������	4��������9������>
��� -������ ����	
�����
�47� ��������7� ������
�F�E>�)*-%0U������������4����������4����,)� ��
���?8��������������������3������43�����2�����)7,D
*7)���*7,�� �%��������9������4����C��C������2��>
��4���������������8��7���	����	�9���2�����9���4



(5�!"�#���$%&��!'��$% �()*) �+�,�-(./0

����

�
��������
�����
�

�������2C�=�����������2��EF1���������9�3���>
���3��������2����������2��������� -1"K0� ?	�8�>
���������������	47���������	���2����T(U 

$�����	
��8����9��8����C�������:����	4���4
������ ��������4� �����4� ���8�� �� ��;���		�3� ��
C8�	��%��������������8���������	���4�������8���
���8����23���	���3�9��������������4��23�����9�3
�����3���������9������������98�3���������������>
�2����4��������	��-����������	
�����
�47������>
���7� ������� N�>)*0 � 1� ���;�������� ��������4
������4�����������4����*�������<�7�����	
�������
8�������� ���9�� A� ��� ����9�3� �����3� �������	� 

;��8����������C���7�����������=:�����������>
;���8��� �������	� �� ����:���43� ���;�������� �
��	
�����7����������4� �� �9�������������������>
����4�C����-������������������9���4��29������4
������8���������4�����������40�T(U 


;��8�� ����C���4� �����	jC��� ���������4� �
����:
=�@�������;�	�����9��8����	���@���9��>
8���@���27�����	���������<>8��������������>
8���
=�T��������7������		��������������������>
��������2��������������������2�����	4�����	
>
@���� ����-QQ0� �	�� 3	������ ������;�-QQ0U � E��	�
�����8�8�����������������>��R�8���������������>
����7�������:
=����;��	�������������E
�������
�2��	4���4���	���
���������7��8	=9�=:�4������4
��������� 6,�I�����������4�@��������	4��;��8�
�����4������	�7���9��2�����	����� -������������>
��4�@������0��	4��;��8�������4�C����-����
80 �K��>
���
� �����	�� -K0�����9��2�����4�8�8� �������� ���>
9�����4�8���������3���8��	��7���8	=9���23���;��>
���	
������	�������������7���������
�C����-σC0�A
8�8� ������8�������9��8��� ��8	������� 4�8�����
���3���8��	�����9��2��3�8�������23���	���43���
������������9���4�����3������	���43 

E��	�������8�8�����9����2����9���4�K���σC7���>
����	4=������C����������	jC���

,
�

S
SNR k= ⋅

σ
����[�A��������9�2��8�?@@�;����7��9��2��=:��
������������8������������	���4�C�������������>
	4=:�� �1�������� T5U����������4�����������
�8�>
?@@�;������[����9��	����8;������������8���C8�
4 �G���
�������������9���4�?�����8�?@@�;�������	4

��������K�

����
�
������
����B
��
��
�)������
�����C
�����
�����������$
���������� $��

�����	���9����������9�=:����4�������8��8��9��>
	����8;���

[�}�)7.,,�����4�}�*D

[�}�)7.H(�����4�}�(D

[�}�)7.5,�����4�}�L 

������������	�9��2�����������������������>
��	���4�4�8���������	������������4����:����	4>
=����8���������:
=�@������7����������9������
�	4��;��8������C���4������	jC�� ��������������>
���������������������-����
90��������	�3���	����
@���������;������-?	������*0�����9��2��3�����3����
;������ -?	�����2�(>,0� �� ���������������������>
������2��	4=����	������������� �"�	����29��	4>
=�� �������� ���9���4� 4�8������ ��8��	��� ������
8����������2��	���23���	�������������� ������
��	�9���23���	�9���������	4=��������	
����K^W_
����8����	
����K^b�����9���4����29��	4=����	�>
9���� ���������������� ��������	���4� 4�8����� �
��	������������4� -k�0��������������������	���=>
:���@����	���

max min

max min

100 %.
�

S S
N

S S

−
= ⋅

+

"	4�8�����	4�����������������������C�=:��
������������ ������ ����	
�����
�4� ����>��R�8�7
�������:������2�����������4������	�9��������>
�����7�	�����������9��8�=�����8����7��@������>
�����=������4�����	
�23�����		�	�������������>
���������������� �������:
=���������23�@��8>
;��� ���;��	�������������E
����	
�8���������
�4�������2��������4����@�	
������;�-����
o0 �"�>
	��� �� ������������������� ������� ������	4���4
8�?@@�;���������������������������C�=:������>
���������-C0

max min 100 %,
c

M M
K

M

−
= ⋅

����?^b��A������������9�������8��������4�8�����
��8��	������@�	4������;��������9��8�������8��>
�2D�?^W_�A������������9���������������4�8�����

��������K�

����
�
������
����B
��
��
�)������
�����C
�����
��������
����
��������
��	

�
�
���

�
���������B�����
����������
���B�������
���


��



/) �!"�#���$%&��!'��$% �()*) �+�,�-(./0

����

�
��������
�����
�

��8��	������@�	4������;��������9��8�������8��>
�2D�?5�A������������9�����4�8��������8��	������>
��	���������@���������������	���������8������>
���� 

"	4� �;��8�� ����������������� ��	���������
����������	
�����
�4� ����>��R�8�7� �����4:�����
��	237������	�����23�����������������4��������
�������������8���7���������8�=:�3��<>�����	����
9�����27����8�����=���������2�������2�������>
9������2��-<J0�8���C8��-����	
����������������
����>��R�8��� ����	������<>8��������������8�>
��
=0 �1���������������4� �����;�47�8��������8>
����2��?	�����2���������	4=����������������4��
�	������7���������8�=:����<>�����	�9�����27���
8�����=���������2�������2��<J>8���C8� �1�?���
�	�9������ ����������������������������������
��������������	��2������������	23���9�8�������>
����@��� ������������������������������������
��������2��	4=�������8�7� ������4=:���;����2
�	����C�3�?	��������^,7� �����4=���	��2������>
8���������9��2��=����	�9��������������������
��	��������������	���=:���@����	��

max 100 %,
�i

i

L L
R

L

 − = ⋅ 
  

����^"�A� �������������8������;����������>��R�8�
������4����������;���������	����C�3�?	������� 

��	:�����2��	4�������������������;������

������	
�������������A��R�8��7� �������:�������
���������	�����������	���23�8	�����	����8	��>
�2�� �	�����27� �������	� 8����23� �����8���
�<>�����	�9�����27����8�����=���������2������>
�2��<J>8���C8�� -�����C���4�������������� ����>
��R�8��� ����	������<>8��������������8���
=0 
E����3����������3�8	��
��� -�	�����0������	���>
=��4�������	���α�8��	��8���������� �1�	�9������	�
��	��������	�����4�
��	���=:����������C���=�

( ) ,��
hα <<
∆

-*0

����h�A���	:�����2��	4�����������D�∆�A����������8>
��	������������4 

�����	�9������������������������	
��������
���;��	�������������E
�����=��������	��������
��8�8������;2����8�������������4�8�������8��	��
�������@�������-����
p0 �E�������8�	4����8������
���������4�������8��n�-����������	����� �����>
����� ����
=�h0� ��87�9���2����������8�	�����3��>

�����*��@
�)�����
���C�	

�����
�������
����
�
&��
�'

��=���	���
����	���2�����	�9������4�8�������8>
��	�������������4���8	�������	��8���� �1��	

�������������8�7�����	
��4�������������E
7�����>
4�����@�	
�4�8�������2��	4������������-����
q+�A
�	4�@���������8	��
4��7�����
q:� A��	4�@��������
��8	���2����	��������0 �"	4������9���2�8����4
���@�	4�4�8�������2��	4�������������������	����
������,���9������	4����������������	
������	:�>
�2��2��	4������������h7�@����	��-*0���	��������

�	���=:�������

( ) .
5

��
hα ≤
⋅∆

E����	�9������@��8;��� -����
 q�7�:0������4=�
C������ ���@�	4� ������ -F0 � E��� ����	
�������
8	��
���?�����	�9������������	4���������C�����
��	�������������4�4�8����������	��-����3����4���>
	���
�������������,P5,�I������8����	
��������>
9���40D� ��	�������8�9����������>��R�8�������	
��>
=��4� ��8	���2�� �	�����27� ��� C������ ���@�	4
�������;��������4�8�8�C��������	�9����������@�>
	4�������������	����2���8����	
��������9���4�-�
���	�4�29����	��������������	
�����4���������>
��������n�A��Z]]��WaYm��b]f�nb�W^Z^0 �"���2�
��������� �;�����=�� �	4� ���3� 8	��
��� �	�� ���3
��8	���23��	�����7�����?������	�9�=���������9�>
��4�C����2����@�	4�������-F*���F(�������������>
��0 �"�	����������������������������������9����
��	����8	����α�����9��2�����4���	:����������h���
�	���=:���@����	��

( )1 2( ) .
2

��
P P

h
+

= α ⋅

1����;��������������4����2�������;�����=�>
�4� ��8�����	�9��2�����@�8�����<>����������47
8�8����2�������4��4�<J>8���������2������@�8�
������@�8��@��������8���������4 �
���������4
���������� ��� �;��8�� ��	�9��2� �������� ��� ?��3
����@�8��� 

�����/��K�

����
�
������
����B
��
��
������C
���
���5�����

��



/*�!"�#���$%&��!'��$% �()*) �+�,�-(./0

����

�
��������
�����
�

��������������@�8���@��������8���������4����>
������4�������:
=�@������7����������9��������	4
�;��8������C���4������	jC��7�����8������
�����>
@�����2����	������������������4��4���2���������
-����
r0 ������	�9����������������������������>
9��8��������������9��2��=��4��������� ���9���4
4�8��������8��	�����������	���=:�3���	������
• A*�A�����	��������������-����������	���������>

�����������	4���6,�I�����������������������4
����>��R�8��0��������@������D

• A(7�A/�A���������8���������7�;����2�8����23����>
��	���=��4����������7����3��4:���9�����;����
�<>����������47���������8�����������3��4��4
��������	��������������4�����>��R�8��D

• AL7�A,�A���������8���������7�;����2�8����23����>
��	���=��4���������h7����3��4:���9�����;����
�<>����������47���������8�����������3��4��4
��������	��������������4�����>��R�8�� 

"�	��� ���� ����:�� ���;��	������������� E

������	4=����	�9��������@�8���@��������8�����>
����4�E7������4���=������;����3�

( ) ( )2 3 4 5

1

100 %.
2

I I I I
G

I

+ − +
= ⋅

⋅
1���8	=9������������7� 9�����������	���2���

�������������8�������������>���������2������>
�����8�����	4��2	������C��������������2���;�>
	����4���BEK�� ����8�2���3�������������4����>
���9�23�-�����		4;����230����������9��8�3�?8�>

�����-��K�

����
�
������
����B
��
��
�)������
�����C
�����
�
)�����)������������
������

�	����;����23����2������8�8��<����:���������>
9���4� -8�������� �sW\^\_`�7� �ld`mWtb�7� ��\_\[b]
q]\XY[WX�7� �%G�07� ��8��� ���;��	���������23��<�7
���������9���23��	4����	������������������8���9>
������7� ��������������E��S�	��8� �1� 3���� ?��3
���2�����������������2���E#�����;���8�����>
���	�����"G� � ����8�2������2������������2�
��������� 8�����	4� ���������	�� ���=� ?@@�8���>
����
�������������	4���	
������	47����:����	4=>
:������3��9��8������2����4�8����������<������>
	���43�?8��	����;�� 

������
���
������.
* S
���z�,)(.6 //>55�����	�4�����;���8���?	�8���>

9��8�� �J���
�( �J����2�����������4�������������
8�����;���8�������������9��8���������������=7
������=:���������������������������������� 

( ��@����;�����>������9��8������
���K����	�>
��4�<�������������������� ����8������)* )H ())6
+�5>),j*((>LH.�����������>�������9��8��������>
����4� 8� ��������>���������2�� �������@��� �
��������;��������2� 

/ �qnu� sYb_ab[a`� zZt]WXbYWd_� ns� *>())*
w\Y\[^W_bYWd_� df� sWc_b]>Yd>�dW`\� rbYWd� -s�r0� W_
wWbc_d`YWX�nbc_\YWX�r\`d_b_X\�Q^bcW_c 

L �qnu� sYb_ab[a`� zZt]WXbYWd_� ns� (>())H
w\Y\[^W_bYWd_� df� lgd>wW^\_`Wd_b]� �\d^\Y[WX
wW`Yd[YWd_� W_� wWbc_d`YWX� nbc_\YWX� r\`d_b_X\
Q^bcW_c 

, �qnu� sYb_ab[a`� zZt]WXbYWd_� ns� />())H
w\Y\[^W_bYWd_� df� Q^bc\� �_Wfd[^WYe� W_� wWbc_d`YWX
nbc_\YWX�r\`d_b_X\�Q^bcW_c 

. �qnu� sYb_ab[a`� zZt]WXbYWd_� ns� ,>())/
w\Y\[^W_bYWd_� df� s]WX\� lmWX�_\``� W_� wWbc_d`YWX
nbc_\YWX�r\`d_b_X\�Q^bcW_c 

6 uvr� l\Xm_WXb]� sYb_ab[a� fd[� wWbc_d`YWX� n\aWXb]
zme`WX`� z\[fd[^b_X\� nd_WYd[W_c� df� nbc_\YWX
r\`d_b_X\� Q^bcW_c� -nrQ0� q�ZWV^\_Y� -uvr
r\`d]ZYWd_�*57�*555�A�[\pW`\a�W_�())57�r\`d]ZYWd_�*)0 

H F3,5)
L�L�
+4H
J1)-
̂ ���Zb]WYe�b``Z[b_X\�̂ \Ymda`�b_a
Vmb_Yd^`�fd[�^bc_\YWX�[\`d_b_X\�W^bcW_c��r\Vd[Y�df
uuzn� _ZX]\b[� ^bc_\YWX� [\`d_b_X\� lb`�� �[dZV
�d �*�jj�n\a �zme` �*55) ��d] �*6 �zz �(H6>5, 

5 @046D+4D,4,H)6
@�T��
JD+-+3
S�
 +4H
?5i),]h
S�L�
sWc_b]>Yd>�dW`\�n\b`Z[\^\_Y`�W_�nbc_WYZa\�Q^bc\`
f[d^��nr�zmb`\a�u[[be`�jj�nbc_ �r\`d_ �n\a �*556 
�d] �/H-,0 �zz �H,(>H,6 

!�'���
>=����
���
m
�������

���
�
'��
�����
���"
�����

=���
���
�����
��
��������
'���
���	
��:��
�

�
��
	
��
����������
P��������

�����
�
'��
�����

�����g���
���
���

P�������
������g
���
��������

�
'����

��������������
���	
�
���

�
��������	
����������
w
������
���

=������'���
���
��
!������

��
!������

)�*+,-.
*,Y23\5*3�03]�37

�����.��@
�)�����
����
�����
��
������

������
)������������������&�'#�����)�������������������

	����������&B'

������' B'


